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EXOWINers conapnent:

Q1. A very popular question on the Prandtl-Batchelor theorem with 43 attempts out of
44,

The answers were very good by and large, but one or
two students seemed quite lost.
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Gomainers comments:

Q2. A very popular question on Helmholtz’s laws of vortex dynamics, with 43
attempts out of 44. The answers were uniformly good.
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EXOUA ner's CoOnAACV:

Q3. A straight forward question on turbulent jets which was avoided b){ a}most
everyone, with only 7 attempts out of 44.° . This is the

second year running that the question on turbulent jets was avoided by nearly all
candidates
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EXOUINESS CONMMETY:

Q4. A popular question on turbulent energy dissipation with 39 attempts out of 44.
The attempts were reasonably satisfactory, but very few
candidates could estimate the energy input to the turbulence.



